Chapter 06 – Reporting and Analyzing Cash and Internal Controls

Chapter 06

Reporting and Analyzing Cash and Internal Controls

True / False Questions
 

[Question]

1. A properly designed internal control system is a key part of accounting information systems design, analysis and performance. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C1
 
[Question]

2. The use of internal controls provides guaranteed protection against losses due to operating activities. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C1
 
[Question]

3. Internal control policies and procedures are the same for all companies. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C1
 
[Question]

4. Maintaining adequate business records is an important internal control principle. 
Answer:  TRUE

 
Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C1
 
[Question]

5. Proper internal control means that the responsibility for a task is clearly established and assigned to one person. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C1
 
[Question]

6. Technology such as cash registers, check protectors, time clocks and personal identification scanners can increase the strength of internal controls. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C1
 
[Question]

7. An internal control system refers to the policies and procedures companies use to protect assets, ensure reliable accounting, promote efficient operations and urge adherence to company policies. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C1
 
[Question]

8. Internal control systems used to monitor and control operations are a low priority for managers within the company. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

9. The principles of internal control include: establish responsibilities, maintain adequate records, insure assets, separate recordkeeping from custody of assets and perform regular and independent reviews. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

10. Bonding does not discourage employees from stealing from the company as employees know that bonding is an insurance policy against loss from theft. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

11. Good internal control dictates that a person who controls an asset should also maintain the accounting records for that asset. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

12. Once a good system of internal control is in place, it rarely needs review. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

13. Technologically advanced accounting systems do not need monitoring for errors because computers always process transactions correctly. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

14. Internal control in technologically advanced accounting systems depends more on the design and operation of the information system and less on the analysis of its resulting documents. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 

[Question]

15. Two important limitations of internal control systems are (1) human error or human fraud and (2) cost-benefit. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

16. Collusion is when a person embezzles money from a company and tries to hide the evidence. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-C1
 
[Question]

17. Separation of duties divides responsibility for a transaction or a series of transactions between two or more individuals or departments. Separation of duties reduces the risk of error and fraud. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-C1
 
[Question]

18. Cash includes currency, coins and the deposits in most checking accounts. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C2
 
[Question]

19. Cash equivalents are short-term highly liquid investment assets that are easily converted to cash and have maturities of one year. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C2
 
[Question]

20. Liquidity refers to a company's ability to pay its short-term obligations. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C2
 
[Question]

21. Money orders, cashier's checks and certified checks are examples of cash equivalents. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C2
 
[Question]

22. Checking accounts are also called demand deposits. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C2
 
[Question]

23. The importance of cash is highlighted by the inclusion of a statement of cash flows in a complete set of financial statements, which reports on the changes in cash. 
Answer:  TRUE

 
Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C2
 
[Question]

24. Basic bank services such as bank accounts, bank deposits and checking contribute to the control and safeguarding of cash. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C3
 
[Question]

25. The payee is the person who signs a check and authorizes payment. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C3
 
[Question]

26. Electronic funds transfer (EFT) is the use of electronic communication transfer of cash from one party to another. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C3
 
[Question]

27. Cancelled checks are checks the bank has paid and deducted from the customer's account during the period. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C3
 
[Question]

28. A check involves 3 parties: the maker who signs the check, the payee who is the recipient and the bank on which the check is drawn. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C3
 
[Question]

29. Internal control devices for banking activities include signature cards, deposit tickets, checks and bank statements. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C3
 
[Question]

30. On a bank statement, deposits are listed as debits because the bank increases its cash account when the deposit is made. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-C3
 
[Question]

31. The days' sales uncollected ratio measures a company's ability to manage its debt. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-A1
 
[Question]

32. The days' sales uncollected ratio reflects on the liquidity of accounts receivable. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-A1
 
[Question]

33. The days' sales uncollected ratio is calculated by dividing accounts receivable by net sales and multiplying this quotient by 365. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-A1
 
[Question]

34. A company must have a days' sales uncollected ratio of less than 30 days to conclude that is has sufficient liquidity. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-A1
 
[Question]

35. When evaluating the days' sales uncollected ratio, generally the less time that money is tied up in receivables often translates into increased profitability. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-A1
 
[Question]

36. A company had $12,000 in accounts receivable and $320,000 in net sales for the current period. Its days' sales uncollected is equal to 13.7 days. 
Answer:  TRUE

Feedback: ($12,000/$320,000) x 365 = 13.7 days

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-A1
 
[Question]

37. Brouski had $750 million in accounts receivable and $2,900 million in net sales for the current period. Its days' sales uncollected ratio equals 3.9 days. 
Answer:  FALSE

Feedback: ($750/$2,900) x 365 = 94.4 days

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-A1
 
[Question]

38. The internal controls of cash receipts aims to ensure that all cash received is properly recorded and deposited. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P1


[Question]

39. A good voucher system includes a set of procedures and approvals designed to control cash disbursements and the acceptance of obligations. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P1
 
[Question]

40. Controls of cash disbursements are important for companies as most large thefts occur from payment of fictitious invoices. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P1
 
[Question]

41. If the Cash Over and Short account has a debit balance at the end of the period, the amount is reported as miscellaneous revenue. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

42. The clerk who has access to the cash in the cash register should not have access to the cash register tape or file. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

43. A voucher system's control over cash disbursements begins when a company incurs an obligation that will result in eventual payment of cash. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

44. A voucher system establishes procedures for verifying, approving and recording obligations for eventual cash disbursement. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

45. Receiving and paying for merchandise should be performed by one individual or department to streamline a voucher system and simplify the procedures for purchasing.
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

46. Cash receipts by mail require only two people: One to open the mail and a second person to deposit the cash in the bank and record the cash receipt in the accounting records. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

47. For good internal controls over cash, all payments should be made from the petty cash, except for very large payments. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

48. A voucher is an internal document or file used to accumulate information to control cash disbursements and to ensure that a transaction is properly recorded. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

49. Vouchers should be used only for purchases. Other expenditures do not need to go through the voucher system. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

50. Assume that at the end of the day, the cash register tape shows a balance of $635. However, the cash drawer has a balance of $650, this difference should be debited to Miscellaneous Expense. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P1
 
[Question]

51. Assume that cash sales according to the register file total $705 but the amount of cash in the register is $685. This cash shortage of $20 represents a Miscellaneous Expense. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P1
 
[Question]

52. An effective voucher system has limited ability in preventing a dishonest employee from colluding with a dishonest supplier to fraudulently acquire cash payments for goods and services not received. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P1
 
[Question]

53. The Petty Cash account is a separate checking account used for small amounts. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P2
 
[Question]

54. All disbursements from petty cash should be documented by a petty cash receipt. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2
 
[Question]

55. The journal entry for petty cash reimbursement involves a debit to the appropriate expenses and a credit to Petty Cash. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2
 
[Question]

56. The petty cash fund should be reimbursed when it is nearing zero and at the end of the accounting period when financial statements are prepared. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P2
 
[Question]

57. The entry to increase the balance in petty cash from $50 to $75 would be to credit the Petty Cash account in the amount of $25. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P2
 
[Question]

58. A bank reconciliation explains any differences between the balance of a checking account on the depositor's records and the balance reported on the bank statement. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P3
 
[Question]

59. Outstanding checks are checks the bank has paid and deducted from the customer's account during the month. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P3
 
[Question]

60. Deposits in transit are deposits made and recorded by the depositor, but not yet recorded on the bank statement. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P3
 
[Question]

61. It is not necessary for businesses to reconcile their checking accounts since banks keep accurate records and provide internal control support for cash. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3
 
[Question]

62. A bank reconciliation usually yields both an adjusted bank balance and an adjusted book balance. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3
 
[Question]

63. After preparing a bank reconciliation, adjustments must be made for items reconciling the bank balance and items reconciling the book balance. 
Answer:  FALSE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3
 
[Question]

64. An NSF check for $17.50 would be recorded as a debit to Cash and a credit to Accounts Receivable. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P3
 
[Question]

65. The purposes and principles of internal control are fundamentally the same across the globe.  However, cultural differences sometimes suggest different emphasis on the mix of control procedures. 
Answer:  TRUE

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Global
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P3
 
[Question]

66. The steps to reconcile the balance of the bank statement to the adjusted balance include adding outstanding checks, deposits and bank service charges. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P3
 
[Question]

67. When merchandise is needed, a department manager must inform the purchasing department of this need by preparing and signing a purchase requisition, which lists the merchandise needed and requests that it be purchased. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P4
 
[Question]

68. An invoice is an itemized statement of goods prepared by the vendor listing the customer's name, items sold, sales prices and terms of sale. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P4
 
[Question]

69. The voucher register is a journal that is used to record all approved vouchers within the company. 
Answer:  TRUE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P4
 
[Question]

70. An invoice is a document that is used within a company to notify the appropriate persons that ordered goods have been received and to describe the quantities and condition of the goods. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P4
 
[Question]

71. Recording a purchase is initiated by an invoice approval, not an invoice. 
Answer:  TRUE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P4
 
[Question]

72. In order to streamline the purchasing process, department managers should place orders directly with suppliers. 
Answer:  FALSE

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P4
 
[Question]

73. A purchase requisition is a document the purchasing department sends to the vendor to place an order. 
Answer:  FALSE

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P4
 
[Question]

74. Assume that a buyer receives a shipment of MODEL SD010 with an invoice amount of $780, although $870 worth of goods were received. The purchase order was for $870. Since the difference was in the buyer's favor, the buyer's purchasing department should authorize payment of $780. 
Answer:  FALSE

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P4
 
 


Multiple Choice Questions
 

[Question]

75. The main principles of internal control include which of the following: 
A. Establish responsibilities
B. Maintain minimal records
C. Use only computerized systems
D. Bond all employees
E. Require automated sales systems

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C1
 
[Question]

76. A good system of internal control: 
A. Urges adherence to prescribed managerial policies
B. Insures profitable operations
C. Eliminates the need for an audit
D. Requires the use of non-computerized systems
E. Is not necessary if the company uses a computerized system

Answer:  A

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

77. A company's internal control system: 
A. Eliminates the risk of loss
B. Monitors and controls business activities
C. Eliminates human error
D. Eliminates the need for audits
E. Is not necessary in large companies

Answer:  B

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

78. When two clerks share the same cash register, which internal control principle is violated? 
A. Establish responsibilities
B. Maintain adequate records
C. Insure assets
D. Bond key employees
E. Apply technological controls

Answer:  A

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

79. Pre-numbered printed checks are an example of which internal control principle? 
A. Technological controls
B. Maintain adequate records
C. Perform regular and independent reviews
D. Establish responsibilities
E. Divide responsibility for related transactions

Answer:  B

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

80. The impact of technology on internal controls includes which of the following: 
A. Reduced processing errors
B. Elimination of the need for regular audits
C. Elimination of the need to bond employees
D. More efficient separation of duties
E. Elimination of fraud

Answer:  A

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-C1
 
[Question]

81. Which of the following is the most serious limitation of internal controls? 
A. Computer error
B. Human fraud or human error
C. Cost-benefit principle
D. Cybercrime
E. Management fraud

Answer:  B

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-C1
 
[Question]

82. Which of the following are risks of e-commerce? 
A. Firewalls, fraud and computer viruses
B. Encryption, stolen credit card numbers and fraud
C. Stolen credit card numbers, computer viruses and impersonation
D. Computer viruses, encryption and stolen credit card numbers
E. Impersonation, encryption and firewalls

Answer:  C

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-C1
 
[Question]

83. Cash, not including cash equivalents, includes: 
A. Postage stamps
B. Coins, currency and checking accounts
C. IOUs
D. Two-year certificates of deposit
E. Money market funds

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C2
 
[Question]

84. Cash equivalents: 
A. Are short-term, highly liquid investments
B. Include 6-month CDs
C. Include checking accounts
D. Are recorded in petty cash
E. Include money orders

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C2
 
[Question]

85. Cash equivalents: 
A. Include savings accounts
B. Include checking accounts
C. Are short-term investments sufficiently close to their maturity date that their value is not sensitive to interest rate changes
D. Include time deposits
E. Have no immediate value

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C2
 
[Question]

86. A check: 
A. Involves the writer, the signers, the cashier and the bank
B. Involves the maker, the payee and the bank
C. Involves the maker and the payee
D. Involves the bookkeeper, the payee and the bank
E. Involves the signer, the cashier and the company

Answer:  B

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-C3
 
[Question]

87. A remittance advice is: 
A. An explanation for a payment by check
B. A bank statement
C. A voucher
D. An EFT
E. A cancelled check

Answer:  A

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C3
 
[Question]

88. For which item does a bank NOT issue a debit memorandum? 
A. To notify a depositor of all withdrawals through an ATM
B. To notify a depositor of a deduction to a depositor's account
C. To notify a depositor of a bounced check
D. To notify a depositor of periodic payments arranged in advance, by a depositor
E. To notify a depositor of a deposit to their account

Answer:  E

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-C3
 
[Question]

89. Why is it a matter of good internal control to deposit all cash receipts daily and make all payments for goods and services by check? 
A. When no paper documents are required there is increased convenience and lower cost
B. These actions control the access to cash and create an independent record of all cash activities
C. These procedures result in a more extensive testing of a company's records
D. The Sarbanes-Oxley Act requires these steps be taken by each publicly traded company
E. These procedures allow management to determine if projected cash receipts and disbursements came in over or under budgeted amounts

Answer:  B

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-C3
 
[Question]

90. The number of days' sales uncollected: 
A. Is used to evaluate the liquidity of receivables
B. Is calculated by dividing accounts receivable by sales
C. Measures a company's ability to pay its bills on time
D. Measures a company's debt to income
E. Is calculated by dividing sales by accounts receivable

Answer:  A

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-A1
 
[Question]

91. The days' sales uncollected ratio is used to: 
A. Measure how many days of sales remain until the end of the year
B. Determine the number of days that have passed without collecting on accounts receivable
C. Identify the likelihood of collecting sales on account
D. Estimate how much time is likely to pass before the amount of accounts receivable is collected
E. Measure the amount of layaway sales for a period

Answer:  D

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-A1
 
[Question]

92. The number of days' sales uncollected is calculated by: 
A. Dividing accounts receivable by net sales
B. Dividing accounts receivable by net sales and then multiplying by 365
C. Dividing net sales by accounts receivable
D. Dividing net sales by accounts receivable and then multiplying by 365
E. Multiplying net sales by accounts receivable and dividing the result by 365

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-A1
 
[Question]

93. A company had net sales of $31,500 and ending accounts receivable of $2,700 for the current period. Its days' sales uncollected is equal to: 
A. 11.7 days
B. 23.3 days
C. 31.3 days
D. 42.5 days
E. 46.6 days

Answer:  C

Feedback: ($2,700/$31,500) x 365 = 31.3 days

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-A1
 
[Question]

94. Mattel had net sales of $4,235 million and ending accounts receivable of $775 million its days' sales uncollected is equal to: 
A. 298 days
B. 66.8 days
C. 19.4 days
D. 81.8 days
E. 65.2 days

Answer:  B

Feedback:  ($775/$4,235) x 365 = 66.8 days

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-A1
 
[Question]

95. Which of the following statements is true given the data below?
 

	
	Company A
	Company B

	Sales
	$250,000
	$400,000

	Ending Accounts Receivable
	$55,000
	$55,000


  
A. Both companies have the same degree of liquidity with regard to their accounts receivables
B. Company A is likely to collect account receivables more quickly than Company B
C. Company B is likely to collect account receivables more quickly than Company A
D. Company A and Company B will likely collect account receivables at the same time
E. It is impossible to estimate how much time it will take for these companies to collect their receivable based on the given information

Answer:  C

Feedback:

Company A: ($55,000/$250,000) x 365 = 80.3 days
Company B: ($55,000/$400,000) x 365 = 50.2 days

 

Bloom’s Taxonomy: Evaluate
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-A1
 
[Question]

96. In Year 1 a company had net sales of $50,000 and ending accounts receivable of $2,000. In Year 2 this company had net sales of $80,000 and ending accounts receivable of $4,000. Use days' sales uncollected to determine which of the following statements is true 
A. Days' sales uncollected in Year 1 is 14.6 days and in Year 2 is 18.25 days. This measure indicates that the company's liquidity is declining
B. Days' sales uncollected in Year 1 is 14.6 days and in Year 2 is 18.25 days. This measure indicates that the company's liquidity is improving
C. Days' sales uncollected in Year 1 is 25 days and in Year 2 is 20 days. This measure indicates that the company's liquidity is declining
D. Days' sales uncollected in Year 1 is 25 days and in Year 2 is 20 days. This measure indicates that the company's liquidity is improving
E. Days' sales uncollected in Year 1 is .04 days and in Year 2 is .05 days. This measure indicates that the company's liquidity is improving

Answer:  A

Feedback:

Year 1 (2,000/50,000) x 365 = 14.6 days
Year 2 (4,000/80,000) x 365 = 18.25 days

 

Bloom’s Taxonomy: Evaluate
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-A1
 

[Question]

97. An income statement account that is used to record cash overages and cash shortages arising from omitted petty cash receipts and from errors in making change is called the: 
A. Cash Lost account
B. Bank Reconciliation account
C. Petty Cash account
D. Cash Over and Short account
E. Cash Receivable account

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P1
 
[Question]

98. A set of procedures and approvals that is designed to control cash disbursements and the acceptance of obligations is referred to as a(n): 
A. Internal cash system
B. Petty cash system
C. Cash disbursement system
D. Voucher system
E. Cash control system

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P1


[Question]

99. The Cash Over and Short account: 
A. Is used to record a credit balance in the cash account
B. Is an income statement account used for recording the income effects of cash overages and cash shortages from errors in making change and from missing petty cash receipts
C. Is not necessary in a computerized accounting system
D. Can never have a debit balance
E. Can never have a credit balance

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2
 
 [Question]

100. A voucher is an internal file that: 
A. Is prepared after an invoice is received
B. Is used as a substitute for an invoice
C. Is used to accumulate information needed to control cash disbursements and to ensure that transactions are properly recorded
D. Takes the place of a bank check
E. Is prepared before the company orders goods

Answer:  C

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

101. Which of the following procedures would weaken the control over cash receipts that arrive through the mail? 
A. After the mail is opened, a list (in triplicate) of the money received is prepared with a record of the sender's name, the amount and an explanation of why the money is sent
B. The bank reconciliation is prepared by a person who does not handle cash or record cash receipts
C. For safety, only one person should open the mail and that person should immediately deposit the cash received in the bank
D. The cashier should not also be the record keeper who records the amounts received in the accounting records
E. All of the above are good internal control procedures over cash receipts that arrive through the mail

Answer:  C

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

102. At the end of the day, the cash register's record shows $1,250, but the count of cash in the cash register is $1,245. The correct entry to record the cash sales for the day is:
A. 


	Cash
	1,245
	

	     Sales
	
	1,245



B. 


	Cash
	1,245
	

	Cash over and short
	5
	

	     Sales
	
	1,250



C.


	Cash
	1,250
	

	     Sales
	
	1,250



D.


	Cash
	1,250
	

	     Sales
	
	1,245

	     Cash over and short
	
	5



E. 
 

	Cash over and short
	5
	

	     Sales
	
	5


Answer:  B

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

103. At the end of the day, the cash register's record shows $1,000 but the count of cash in the register is $1,035. The proper entry to record this excess includes a: 
A. Credit to Cash for $35
B. Debit to Cash for $35
C. Credit to Cash Over and Short for $35
D. Debit to Cash Over and Short for $35
E. Debit to Petty Cash for $35

Answer:  C

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P1
 
[Question]

104. The entry necessary to establish a petty cash fund should include: 
A. A debit to Cash and a credit to Petty Cash
B. A debit to Cash and a credit to Cash Over and Short
C. A debit to Petty Cash and a credit to Cash
D. A debit to Petty Cash and a credit to Accounts Receivable
E. A debit to Cash and a credit to Petty Cash Over and Short

Answer:  C

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P2
 
[Question]

105. The entry to record reimbursement of the petty cash fund for postage expense should include: 
A. A debit to Postage Expense
B. A debit to Petty Cash
C. A debit to Cash
D. A debit to Cash Short and Over
E. A debit to Supplies

Answer:  A

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P2
 
[Question]

106. When a petty cash fund is in use: 
A. Expenses paid with petty cash are recorded when the fund is replenished
B. Petty Cash is debited when funds are replenished
C. Petty Cash is credited when funds are replenished
D. Expenses are not recorded
E. Cash is debited when funds are replenished

Answer:  A

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2
 
[Question]

107. In reimbursing the petty cash fund: 
A. Cash is debited
B. Petty Cash is credited
C. Petty Cash is debited
D. Appropriate expense accounts are debited
E. No expenses are recorded

Answer:  D

 Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2
 
[Question]

108. Assume that the custodian of a $450 petty cash fund has $62.50 in coins and currency plus $382.50 in receipts at the end of the month. The entry to replenish the petty cash fund will include: 
A. A debit to Cash for $377.50
B. A credit to Cash Over and Short for $5.00
C. A debit to Petty Cash for $382.50
D. A credit to Cash for $387.50
E. A debit to Cash for $387.50

Answer:  D

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P2
 
[Question]

109. A company plans to decrease a $200 petty cash fund to $75. The current balance in the account includes $45 in receipts and $165 in currency. The entry to reduce the fund will include a: 
A. Debit to Cash Short and Over for $10
B. Debit to Cash for $90
C. Debit to Miscellaneous Expenses for $35
D. Credit to Petty Cash for $165
E. Credit to Cash for $90

Answer:  B

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P2
 
[Question]

110. A company had $43 missing from petty cash which was not accounted for by petty cash receipts. The correct procedure is to: 
A. Debit Cash Over and Short for $43
B. Credit Cash Over and Short for $43
C. Debit Petty Cash for $43
D. Credit Petty Cash for $43
E. Credit Cash for $43

Answer:  A

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P2
 
[Question]

111. An analysis that explains any differences between the checking account balance according to the depositor's records and the balance reported on the bank statement is a (n): 
A. Internal audit
B. Bank reconciliation
C. Bank audit
D. Trial reconciliation
E. Analysis of debits and credits

Answer:  B

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P3
 
[Question]

112. On a bank reconciliation, an unrecorded debit memorandum for printing checks is: 
A. Noted as a memorandum only
B. Added to the book balance of cash
C. Deducted from the book balance of cash
D. Added to the bank balance of cash
E. Deducted from the bank balance of cash

Answer:  C

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3
 
[Question]

113. Outstanding checks refer to checks that have been: 
A. Written, recorded, sent to payees and received and paid by the bank
B. Written and not yet recorded in the company books
C. Held as blank checks
D. Written, then recorded on the company books and sent to the customer, supplier, or creditor, but have not yet been paid by the bank
E. Issued by the bank

Answer:  D

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3
 
[Question]

114. What are some of the risks for a company converting from GAAP to IFRS? 
A. Misstatement of financial information
B. Fraud
C. Ineffective communication of the impact of the change to investors and creditors
D. Management’s inability to certify the effectiveness of controls over financial reporting
E. All of the items listed above are risks that a company converting from GAAP to IFRS must 
    be aware of

Answer:  E

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Global
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3
 
[Question]

115. A check that was outstanding on last period's bank reconciliation was not included with the cancelled checks returned by the bank this period. As a result, in preparing this period's reconciliation, the amount of this check should be: 
A. Added to the book balance of cash
B. Deducted from the book balance of cash
C. Added to the bank balance of cash
D. Deducted from the bank balance of cash
E. Ignored in preparing the period's bank reconciliation

Answer:  D

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3
 
[Question]

116. A deposit in transit on last period's bank reconciliation is shown as a deposit on the bank statement this period. As a result, in preparing this period's reconciliation, the amount of this deposit should be: 
A. Added to the book balance of cash
B. Deducted from the book balance of cash
C. Added to the bank balance of cash
D. Deducted from the bank balance of cash
E. Not included as a reconciling item

Answer:  E

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P3
 
[Question]

117. A company made a bank deposit on September 30 that did not appear on the bank statement dated September 30. In preparing the September 30 bank reconciliation, the company should: 
A. Deduct the deposit from the bank statement balance
B. Send the bank a debit memorandum
C. Deduct the deposit from the September 30 book balance and add it to the October 1 book balance
D. Add the deposit to the book balance of cash
E. Add the deposit to the bank statement balance

Answer:  E

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P3
 
[Question]

118. A company wrote a check on September 30 that did not appear on the bank statement dated September 30. In preparing the September 30 bank reconciliation, the company should: 
A. Deduct the check from the bank statement balance
B. Send the bank a credit memorandum
C. Deduct the check from the September 30 book balance and add it to the October 1 book balance
D. Add the check to the book balance of cash
E. Add the check to the bank statement balance

Answer:  A

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P3
 
[Question]

119. In comparing the canceled checks on the bank statement with the entries in the accounting records, it is found that check number 4239 for November's rent was correctly written and drawn for $3,790, but was erroneously entered in the accounting records as $7,390. When preparing the November bank statement, the company should: 
A. Deduct $3,600 from the book balance of cash
B. Add $3,700 to the bank statement balance
C. Add $7,390 to the book balance of cash
D. Deduct $3,600 from the bank statement balance
E. Add 3,600 to the book balance of cash

Answer:  E

Feedback:  7,390 - 3,790 = 3,600

 

Bloom’s Taxonomy: Analysis
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P3
 
[Question]

120. In comparing the canceled checks on the bank statement with the entries in the accounting records, it is found that check number 4239 for November's rent was correctly written and drawn for $7,390, but was erroneously entered in the accounting records as $3,790. When preparing the November bank statement, the company should: 
A. Deduct $3,600 from the book balance of cash
B. Add $3,600 to the bank statement balance
C. Add $7,390 to the book balance of cash
D. Deduct $3,600 from the bank statement balance
E. Add $3,600 to the book balance of cash

Answer:  A

Feedback:  3,790 - 7,390 = (3,600)

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P3
 
[Question]

121. In comparing the canceled checks on the bank statement with the entries in the accounting records, it is found that check number 2889 for December's utilities was correctly written and drawn for $790, but was erroneously entered in the accounting records as $970. The journal entry to adjust the books for the bank reconciliation would include which of the following for this situation? 
A. $180 decrease to Cash and a $180 decrease to Utility Expense
B. $180 increase to Cash and a $180 decrease to Utility Expense
C. $20 decrease to Cash and a $20 decrease to Utility Expense
D. $20 increase to Cash and a $120 decrease to Utility Expense
E. $970 increase to Cash

Answer:  B

Feedback:  790 - 970 = (180)

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P3
 
[Question]

122. In comparing the canceled checks on the bank statement with the entries in the accounting records, it is found that check number 2889 for December's utilities was correctly written and drawn for $970, but was erroneously entered in the accounting records as $790. The journal entry to adjust the books for the bank reconciliation would include which of the following for this situation? 
A. $180 decrease to Cash and a $180 decrease to Utility Expense
B. $180 increase to Cash and a $180 increase to Utility Expense
C. $180 decrease to Cash and a $180 increase to Utility Expense
D. $180 increase to Cash and a $120 decrease to Utility Expense
E. $970 increase to Cash and a $790 decrease to Utility Expense

Answer:  C

Feedback: 970 - 790 = 180

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P3
 
[Question]

123. A seller of goods or services, which is usually a manufacturer or wholesaler is known as a: 
A. Vendor
B. Payee
C. Vendee
D. Creditor
E. Debtor

Answer:  A

 

Bloom’s Taxonomy: Knowledge
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P4
 
[Question]

124. The internal document prepared by a department manager that informs the purchasing department of its needs is the
A. Purchase requisition
B. Purchase order
C. Invoice
D. Receiving report
E. Invoice approval

Answer:  A

 

Bloom’s Taxonomy: Knowledge
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P4
 
[Question]

125. The document that the purchasing department prepares and sends to the vendor to place an order is the 
A. Purchase requisition
B. Purchase order
C. Invoice
D. Receiving report
E. Invoice approval

Answer:  B

 

Bloom’s Taxonomy: Knowledge
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P4
 
[Question]

126. The document that is an itemized statement of goods prepared by a vendor listing the customer's name, items sold, sales prices and terms of the sale is the 
A. Purchase requisition
B. Purchase order
C. Invoice
D. Receiving report
E. Invoice approval

Answer:  C

 

Bloom’s Taxonomy: Knowledge
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P4
 
[Question]

127. The internal document that is prepared to notify the appropriate persons that ordered goods have been received and describes the quantities and condition of the goods is the 
A. Purchase requisition
B. Purchase order
C. Invoice
D. Receiving report
E. Invoice approval

Answer:  D

 

Bloom’s Taxonomy: Knowledge
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P4
 
[Question]

128. The document, also known as the check authorization, that is a checklist of steps necessary for approving an invoice for approval and payments is the 
A. Purchase requisition
B. Purchase order
C. Invoice
D. Receiving report
E. Invoice approval

Answer:  E

 

Bloom’s Taxonomy: Knowledge
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P4
 
[Question]

129. Which of the following statements is true regarding the documents in a voucher system? 
A. All voucher systems are the same
B. Recording a purchase is initiated by an invoice approval
C. A well designed voucher system will allow department managers to place orders directly with suppliers for control purposes
D. A voucher system is most commonly used in very small companies to make up for the lack of other internal controls
E. A well designed voucher system will eliminate all fraud and error

Answer:  B

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P4
 
 [Question]
130. Triple Company’s accountant made an entry that included the following items:  debit postage expense $12.42; debit office supplies expense $27.33, credit to cash over/short $2.19.  If the original amount in petty cash is $320, how much was the credit to cash for the reimbursement?  
A. $320.00
B. $202.44
C. $37.56
D. $39.75
E. $41.94

Answer:  C

Feedback:  $12.42+27.33-2.19 = 37.56

 Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2
 
[Question]

131. Triple Company’s accountant made an entry that included the following items:  debit postage expense $12.42; debit office supplies expense $27.33, credit to cash over/short $2.19.  If the original amount in petty cash is $320, how much is in petty cash before the reimbursement?  
A. $320.00
B. $282.44
C. $37.56
D. $39.75
E. $41.94

Answer:  B

Feedback:  $320.00-12.42 - 27.33 + 2.19 = 282.44
 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2
 

[Question]

132. Triple Company’s accountant made an entry that included the following items:  debit postage expense $12.42; debit office supplies expense $27.33, debit to cash over/short $2.19.  If the original amount in petty cash is $320, how much was the credit to cash for the reimbursement?  
A. $320.00
B. $202.44
C. $37.56
D. $39.75
E. $41.94

Answer:  E

Feedback:  $12.42+27.33+2.19 = 41.94

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2
 
[Question]

133. Triple Company’s accountant made an entry that included the following items:  debit postage expense $12.42; debit office supplies expense $27.33, debit to cash over/short $2.19.  If the original amount in petty cash is $320, how much is in petty cash before the reimbursement?  
A. $320.00
B. $202.44
C. $37.56
D.$275.87 

E. $278.06

Answer:  D

Feedback:  $320.00-12.42-27.33-2.19 = $278.06

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2

[Question]

134. Given the following information:

Petty cash balance: 

 $450.00
Courier receipt:


  $82.50

Postage receipt:  

 $  48.00
Office Supplies receipt: 

  $56.22

Business Meal receipt: 
 $102.34
Cash on hand at the end of the month:  $76.21

What is the amount that needs to be reimbursed?   

A. $365.27
B. $289.06
C. $373.79
D. $289.00
E. $450.00

Answer:  C

Feedback:  $450.00-76.21 = $373.79

 Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2

[Question]

135. Given the following information:

Petty cash balance: 

 $450.00
Courier receipt:


  $82.50

Postage receipt:  

 $  48.00
Office Supplies receipt: 

  $56.22

Business Meal receipt: 
 $102.34
Cash on hand at the end of the month:  $76.21

What is the amount of cash over and short?   

A. debit $84.73
B. credit $84.73
C. debit $160.94
D. credit $160.94
E. no cash over or short would be recorded

Answer:  A

Feedback:  $450.00-76.21 = $373.79 – 48.00-102.34-82.50-56.22 = 84.73 debit

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2

[Question]

136. Given the following information:

Petty cash balance: 

 $530.00
Courier receipt:


  $74.22

Postage receipt:  

 $  25.00
Office Supplies receipt: 

  $95.64

Business Meal receipt: 
 $  54.21
Cash on hand at the end of the month: $299.71

What is the amount that needs to be reimbursed?   


A. $365.27
B. $289.06
C. $280.73
D. $181.22
E. $230.29

Answer:  E
Feedback:  $530.00-299.71 = $230.29

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2


[Question]

137. Given the following information:

Petty cash balance: 

 $530.00
Courier receipt:


  $ 74.22

Postage receipt:  

 $  25.00
Office Supplies receipt: 

  $ 95.64

Business Meal receipt: 
 $  54.21
Cash on hand at the end of the month: $299.71

What is the amount that needs to be recorded for cash over and short?   


A. debit $23.29
B. credit $23.29
C. debit $18.78
D. no cash over and short is necessary
E. credit $18.78

Answer:  E

Feedback:  $530.00-299.71=230.29-25.00-54.21-74.22-95.64=-18.78 (credit) 
Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2

[Question]
138.  Fluffy Pet Grooming deposits all cash receipts on the day when they are received and all cash payments are made by check. At the close of business on June 30, its Cash account shows a $14,811, debit balance. Fluffy Pet Grooming's June 30 bank statement shows $14,472 on deposit in the bank. Prepare a bank reconciliation for Fluffy Pet Grooming using the following information
	a.
	Outstanding checks as of June 30 total $2,261.

	b.
	The June 30 bank statement included a $75 debit memorandum for bank services.

	c.
	Check No. 919, listed with the canceled checks, was correctly drawn for $789 in payment of a utility bill on June 15. Fluffy Pet Grooming mistakenly recorded it with a debit to Utilities Expense and a credit to Cash in the amount of $798.

	d.
	The June 30 cash receipts of $2,534 were placed in the bank’s night depository after banking hours and were not recorded on the June 30 bank statement.


What is the adjusted bank balance?
A. $14,265
B. $14,745
C. $14,677
D. $14,538
E. $14,877

Answer:  B

Feedback:  $14,472-2,261+2,534=$14,745

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3

[Question]
139. Fluffy Pet Grooming deposits all cash receipts on the day when they are received and all payments are made by check. At the close of business on June 30, its Cash account shows a $14,811, debit balance. Fluffy Pet Grooming's June 30 bank statement shows $14,472 on deposit in the bank. Prepare a bank reconciliation for Fluffy Pet Grooming using the following information
	a.
	Outstanding checks as of June 30 total $2,261.

	b.
	The June 30 bank statement included a $75 debit memorandum for bank services.

	c.
	Check No. 919, listed with the canceled checks, was correctly drawn for $789 in payment of a utility bill on June 15. Fluffy Pet Grooming mistakenly recorded it with a debit to Utilities Expense and a credit to Cash in the amount of $798.

	d.
	The June 30 cash receipts of $2,534 were placed in the bank’s night depository after banking hours and were not recorded on the June 30 bank statement.


What is the adjusting journal entry required to record the increase in cash for the adjusted bank balance?
A. debit to cash $2,261 credit to accounts receivable $2,261
B. credit to accounts receivable $2,261 debit to cash $2,261
C. no adjusting entry is necessary
D. debit to cash $2,534 credit to accounts receivable $2,534
E. credit to cash $2,534 credit to accounts receivable $2,534

Answer:  C

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3

[Question]
140. The following information is available to reconcile Sleepy Time Bedding's book balance of cash with its bank statement cash balance as of July 31:
	

	  

a.
On July 31, the company's Cash account has a $25,862 debit balance, but its July bank statement shows a $28,177 cash balance.

b.
Check No. 1531 for $1,520 and Check No. 1540 for $752 were outstanding on the June 30 bank reconciliation. Check No. 1540 is listed with the July canceled checks, but Check No. 1531 is not. Also, Check No. 1565 for $536 and Check No. 1569 for $2,288, both written in July, are not among the canceled checks on the July 31 statement.

c.
In comparing the canceled checks on the bank statement with the entries in the accounting records, it is found that Check No. 1556 for July rent was correctly written and drawn for $1,240 but was erroneously entered in the accounting records as $1,230.

d.
A credit memorandum enclosed with the July bank statement indicates the bank collected $9,500 cash on a noninterest-bearing note for Sleepy Time Bedding, deducted a $48 collection fee, and credited the remainder to its account. Sleepy Time Bedding had not recorded this event before receiving the statement.

e.
A debit memorandum for $805 lists a $795 NSF check plus a $10 NSF charge. The check had been received from a customer, Evan Shaw. Sleepy Time Bedding has not yet recorded this check as NSF.

f.
Enclosed with the July statement is a $14 debit memorandum for bank services. It has not yet been recorded because no previous notification had been received.

g.
Sleepy Time Bedding July 31 daily cash receipts of $10,652 were placed in the bank's night depository on that date, but do not appear on the July 31 bank statement. 



What is the adjusted book balance?
A. $34,485
B. $34,994
C. $28,150
D. $27,025
E. $31,617

Answer:  A

Feedback:  $25,862-10+9500-48-805-14=$34,485
Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3

 [Question]
141. The following information is available to reconcile Sleepy Time Bedding's book balance of cash with its bank statement cash balance as of July 31:
	  

a.
On July 31, the company's Cash account has a $25,862 debit balance, but its July bank statement shows a $28,177 cash balance.

b.
Check No. 1531 for $1,520 and Check No. 1540 for $752 were outstanding on the June 30 bank reconciliation. Check No. 1540 is listed with the July canceled checks, but Check No. 1531 is not. Also, Check No. 1565 for $536 and Check No. 1569 for $2,288, both written in July, are not among the canceled checks on the July 31 statement.

c.
In comparing the canceled checks on the bank statement with the entries in the accounting records, it is found that Check No. 1556 for July rent was correctly written and drawn for $1,240 but was erroneously entered in the accounting records as $1,230.

d.
A credit memorandum enclosed with the July bank statement indicates the bank collected $9,500 cash on a noninterest-bearing note for Sleepy Time Bedding, deducted a $48 collection fee, and credited the remainder to its account. Sleepy Time Bedding had not recorded this event before receiving the statement.

e.
A debit memorandum for $805 lists a $795 NSF check plus a $10 NSF charge. The check had been received from a customer, Evan Shaw. Sleepy Time Bedding has not yet recorded this check as NSF.

f.
Enclosed with the July statement is a $14 debit memorandum for bank services. It has not yet been recorded because no previous notification had been received.

g.
Sleepy Time Bedding July 31 daily cash receipts of $10,652 were placed in the bank's night depository on that date, but do not appear on the July 31 bank statement. 


	


What is the appropriate journal entry to record the collection made by the bank?
A. debit to cash $9,500 credit to accounts receivable $9,500
B. credit to accounts receivable $9,500 credit to cash $9,500
C. debit to cash $9,452 debit to collection expense $48 credit accounts receivable $9,500
D. debit to cash $9,452 debit to collection expense $48 credit notes receivable $9,500
E. no adjusting entry is necessary 

Answer:  D

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3
Matching Questions
[Question]

142. Match each of the following terms with the appropriate definitions. 

 
	1. A fund used for disbursements related to small items such as postage 
	     Bank reconciliation 
	  8 

	2. Principles requiring management to establish responsibility, maintain adequate records, insure assets, separate recordkeeping from custody of assets, divide responsibility for related transactions, apply technological controls and perform reviews 
	     Voucher 
	  5 

	3. A measure of the liquidity of receivables computed by taking the current balance of receivables and dividing by periods credit sales and then multiplied by 365 
	     Principles of internal control 
	  2 

	4. A document used by the purchasing department to place an order with a vendor purchase 
	     Days' sales uncollected 
	  3 

	5. An internal business document (or file) used to accumulate information to control cash disbursements and to ensure that the transaction is properly recorded 
	     Liquidity 
	  9 

	6. A method of recording purchases at the full invoice price without deducting any cash discounts 
	     Gross method 
	  6 

	7. An income statement account used to record cash overages and cash shortages arising from missing petty cash receipts or from errors in making change 
	     Petty Cash 
	  1 

	8. A report that explains any differences between the checking account balance according to the depositor's records and the balance reported on the bank statement 
	     Purchase order 
	  4 

	9. The ability of a company to pay for its short-term obligations 
	     Receiving report 
	  10 

	10. An internal document used to report that ordered goods are received and to describe the quantity and condition 
	     Cash Over and Short 
	  7 


 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-A1
Learning Objective: 06-C1
Learning Objective: 06-C2
Learning Objective: 06-P1
Learning Objective: 06-P4
 
[Question]

143. Match each of the following transactions with the applicable internal control principle. 

	1. A company uses a check protector 
	     Establish responsibility 
	  9 

	2. A company has separate departments for purchasing, receiving and accounts payable 
	     Divide responsibility for related transactions 
	  5 

	3. A company buys an insurance policy to protect against employee theft 
	     Establish responsibility 
	  7 

	4. A company uses a computerized point of sale system 
	     Separate recordkeeping from custody of assets 
	  10 

	5. A company uses a voucher system 
	     Apply technological controls 
	  4 

	6. A company hires CPAs to perform an audit 
	     Perform regular and independent reviews 
	  6 

	7. No two clerks share the same cash drawer 
	     Insure assets and bond employees 
	  3 

	8.  A company has an internal auditor on staff 
	     Divide responsibility for related transactions 
	  2 

	9. Cashier does not have access to the cash register recorded tape or file 
	     Perform regular and independent reviews 
	  8 

	10. The bookkeeper prepares and signs checks 
	     Apply technological controls 
	  1 


 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-C1
 
[Question]

144. Identify each of the following items as either (a) cash or (b) cash equivalent. 

	1. U.S. treasury bills 
	     cash 
	  5 

	2. Commercial paper 
	     cash 
	  10 

	3. Certified check 
	     cash equivalent 
	  6 

	4. Currency 
	     cash equivalent 
	  2 

	5. Coins 
	     cash 
	  4 

	6. Three-month certificate of deposit 
	     cash 
	  3 

	7. Money market accounts 
	     cash 
	  9 

	8. Money orders 
	     cash equivalent 
	  7 

	9. Cashier's check 
	     cash 
	  8 

	10. Petty cash 
	     cash equivalent 
	  1 


 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C2
 
[Question]

145. Match the following terms with the appropriate definition. 

	1. An asset such as cash that can be readily used to settle short-term obligations 
	     Cash 
	  2 

	2. Currency, coins and amounts on deposit in bank checking and many savings accounts 
	     Cash equivalent 
	  4 

	3. An internal document listing the goods needed by a department and requesting that it be purchased 
	     Check 
	  9 

	4. Short-term, highly liquid investments that are readily convertible to known cash amount and are sufficiently close to their maturity date so that the market value is not sensitive to interest rate change 
	     Outstanding checks 
	  8 

	5. An itemized statement of goods prepared by the vendor that lists the customer's name, the items sold, the sales price of each item and the terms of sale 
	     Liquid asset 
	  1 

	6. All the policies and procedures managers use to protect assets, ensure reliable accounting, promote efficient operations and urge adherence to company policies 
	     Internal control system 
	  6 

	7. The buyer or purchaser of goods or services 
	     Vendee 
	  7 

	8. Checks written by the depositor, deducted on the depositor's records, sent to the payees but not yet received by the bank for payment 
	     Vendor 
	  10 

	9. A document signed by the depositor instructing the bank to pay a specified amount to a designated recipient 
	     Purchase requisition 
	  3 

	10. The seller of goods or services 
	     Invoice 
	  5 


 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
Learning Objective: 06-C2
Learning Objective: 06-P4
 
[Question]

146. Identify whether each of the following items would on appear on the bank side or the book side of a bank reconciliation. 


	1. Bank service charges 
	     Book 
	  1 

	2. The bank printed checks for the depositor for a fee 
	     Book 
	  3 

	3. NSF check 
	     Book 
	  7 

	4. Bank debit memorandum 
	     Bank 
	  8 

	5. The bank collected a $1,000 note for the depositor 
	     Book 
	  2 

	6. Bank credit memorandum 
	     Book 
	  4 

	7. Interest on a checking account 
	     Book 
	  6 

	8. The bank incorrectly recorded a check for $9.58. The company properly wrote the check for $95.80 
	     Book 
	  5 


 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P3
 
 


Essay Questions
 
[Question]

147. Define an internal control system and describe the purpose that it serves. 

Answer:  An internal control system refers to the policies and procedures designed to protect the firm's assets and to ensure reliable accounting. It also should promote efficient operations and urge employees to comply with company policies. Internal control systems can help prevent losses, help managers plan operations and monitor company and employer performance.

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

148. List the main principles of internal controls. 

Answer:  Principles of internal controls include the following: establishing responsibilities, maintaining adequate records, insuring assets and bonding employees, separating recordkeeping from custody of assets, dividing responsibilities for related transactions, applying technological controls and performing regular independent reviews.

 

Bloom’s Taxonomy: Remember
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
[Question]

149. Explain the differences between cash and cash equivalents. 

Answer:  Cash includes coins, currency and amounts in demand deposits in banks such as checking accounts. Cash equivalents are short-term investments that meet two specific criteria. The first is that the investments must be readily convertible to a known cash amount. The second requirement is the investments should be sufficiently close to their maturity so that the market value is not sensitive to changes in interest rates. Examples of short-term investments include certificates of deposits and government treasury bills.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-C2
 
[Question]

150. Describe the banking activities that promote the control of cash and identify the internal control objectives served by the banking activities. 

Answer:  Banking activities can be organized into three areas: the bank account, deposit services and checking services. A bank account is an account set up by a bank permitting a customer to deposit money for safeguarding and to withdraw funds by writing checks. A bank deposit is money contributed to the account with a deposit ticket as proof. A check is a document signed by the authorized representative of the depositor. The check instructs the bank to transfer cash from the depository to the payee.
The internal control objectives aided by the bank include safeguarding of cash, record keeping, technological controls, independent review and divided responsibility for transactions.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-C3
 
[Question]

151. What is the purpose of the days' sales uncollected ratio? 

Answer:  The days' sales uncollected ratio is a liquidity measure. It is used to estimate how much time is likely to pass before the current amount of accounts receivable is collected in cash. The measure is also valuable for analysis in comparing ratios from other companies in the same industry and as a means to compare current with prior years' performance.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-A1
 
[Question]

152. What is a voucher system? 

Answer:  A voucher system is a set of procedures and authorizations designed to control cash disbursements and acceptance of obligations. In this way, small cash payments can be made without excessive employee access to the main cash account of the company.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P1
 
[Question]

153. Discuss how the principles of internal controls apply to cash receipts. 

Answer:  Internal control principles as applied to cash receipts should ensure that all cash received is properly recorded and deposited. Cash receipts are usually generated via over-the-counter sales or through the mail as money is received as payments on account. Employees who are assigned to receive cash should not be allowed to record the amounts of the cash received into the accounting system. Technological devices such as cash registers enforce this principle of separation of recordkeeping from custody of cash. Responsibilities for receipts of cash should include at least two people assigned to open mail and prepare a list that includes the sender's name, amount and explanation for the payment. This meets the internal control principles of establishing responsibilities and dividing responsibility for related transactions.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P1
 
[Question]

154. What is the purpose of the petty cash account? 

Answer:  The petty cash account is used to serve as a controlling account for small amounts of cash disbursements. In this way, small cash payments can be made without excessive employee access to the main cash account of the company.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P2
 
[Question]

155. Discuss the purpose of a bank reconciliation. 

Answer:  A bank reconciliation is a report explaining any differences between the balance according to a depositor's records and the balance on the company's bank statement. The reconciliation procedure examines the differences based on the information available to the company and adjusts for the differences. It also serves as a format for the discovery and correction of errors.

 

Bloom’s Taxonomy: Understand
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-P3
 
[Question]

156. What are the checks that must be completed prior to the completion of invoice approval and voucher preparation? 

Answer:  There are four steps that must be completed, each with its own checks. The requisition check determines whether the items on the invoice are requested per the purchase requisition. The Purchase order check determines whether the items on the invoice are ordered per the purchase order. The receiving report check determines whether the items on the invoice are received per the receiving report. Finally, the invoice check determines whether the invoice prices are as agreed with the vendor, the invoice has no calculation errors and the terms are as agreed with the vendor.

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P4
 
[Question]

157. Kim Jordan of  New Belgium Brewing Company maintains a system of  internal controls and managing cash. Identify some of these internal controls and explain how they contribute to the success of the company. 

Answer:  Kim maintains control procedures to monitor New Belgium’s business activities and safeguard its assets. Kim explains that such controls raise productivity and cut expenses. Her company’s cash management practices, include controls over cash receipts, disbursements, and petty cash. The use of bank reconciliations further helps with the control and management of cash. Kim says she takes advantage of available banking services to enhance control of cash. 

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-C1
 
 

Short Answer Questions


[Question]

 158. For each of the independent cases below, identify the principle of internal control that is violated and recommend what should be done to remedy the violation.
 
1. In order to save money, Regal Company has decided to drop its property insurance on assets and to stop bonding the cashiers who handle about $10,000 in cash each day. 
2. Halton Company records each sale on a preprinted invoice. On certain occasions invoices are spoiled when they are prepared, which is why the invoices are not pre-numbered, but the sales clerk writes the next number onto each invoice. 
3. Marion Company is a very small business. Bob Lepley, one of the two office clerks, opens the mail each day and removes the cash receipts that come in the mail. Bob then records the receipts in the cash records and the customer's account and deposits the cash in the bank. 
4. Gerald McNichols, the owner of McNichols Company prides himself on hiring only the most competent employees. McNichols believes that since these employees are highly competent, he trusts them completely and feels there is no need for anyone to check up on the employees' performance. 
5. Service Products is a small business with only 3 accounting employees. Each employee is well-trained and so can perform any of the accounting tasks, including handling cash receipts and cash disbursements and preparing the bank reconciliation. 

Answer:

1. Insure assets and bond key employees. Even though it may save money in the short run, insurance protects the company if assets are stolen. Bonding reduces the risk of loss from the theft of cash by employees. It also discourages theft because bonded employees know that an independent company will be involved when a theft is discovered. It is unlikely that the bonding company will be sympathetic to any employee involved in the theft.

2. Maintain adequate records. All the important company documents, including sales invoices, should be pre-numbered. This will help ensure that all sales are recorded and that salespeople cannot pocket cash from a sale and destroy the sales invoice.

3. Divide responsibility for related transactions. Lepley has too many responsibilities with respect to cash. He controls the cash and maintains the records of cash. These responsibilities with respect to cash should be split up among several employees. One person should open the mail (ideally with a second employee present) and prepare a list in triplicate that indicates each sender's name, the amount sent and an explanation of why the money was sent. One copy goes to the cashier with the money. The cashier deposits the money in the bank and records the amounts received in the accounting records for cash. The second copy goes to the record keeper in the accounting area who records the amounts in the customer's records. The third copy stays with the person who opens the mail. Lepley may carry out one of these tasks, but not all of them
.
4. Perform regular and independent reviews. Even the most competent person sometimes makes mistakes. Sometimes individuals who appear honest may turn out not to be. McNichols should set up regular, independent reviews of each employee's performance to evaluate possible errors and to ensure that procedures are followed.

5. Establish responsibilities. Each employee should be assigned specific tasks. As things stand now, if a problem occurs, it is difficult to know who is at fault. It is hard to hold employees accountable for their actions if it cannot be determined who is responsible for the action.

 

Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA BB: Resource Management
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-C1
 
[Question]

159. At the end of the current period, a company reported $475,000 in net credit sales and $75,000 in ending accounts receivable. Calculate this company's days' sales uncollected at the end of the current period. 

Answer:  ($75,000/$475,000) x 365 = 57.6 days

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Easy
Learning Objective: 06-A1
 
[Question]

160. Hasbro had $2,816 million in sales and $555 million in ending accounts receivable for the current period. For the same period, Mattel reported $4,885 million in sales and $491 million in ending accounts receivable. Calculate the days' sales uncollected for both companies as of the end of the current period. Which company is doing a better job in managing the collection of its receivables? 

Answer:

Hasbro: ($555/$2,816) x 365 = 71.9 days
Mattel: ($491/$4,885) x 365 = 36.7 days
Mattel is doing a better job of collecting its receivables in a timely manner as it only takes 36.7 days to collect the average receivable compared to 71.9 days.

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-A1
 
[Question]

161. A company reported net sales for Year 1 of $285,000 and $575,000 for Year 2. The year-end balances of accounts receivable were $49,000 for Year 1 and $85,000 for Year 2. Calculate the days' sales uncollected at the end of each year for this company and describe any changes in the apparent liquidity of the company's receivables. 

Answer:

Year 1: ($49,000/$285,000) x 365 = 63 days
Year 2: ($85,000/$575,000) x 365 = 54 days
The decrease of 9 days means that this company has improved its management of receivables and its liquidity position.

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AACSB: Reflective Thinking
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-A1
 
[Question]

162. On August 17, at the end of the day, the cash register's record shows $957, but the count of cash in the register is $965. Prepare the general journal entry to record the day's cash sales. 

Answer:

	Aug. 17
	Cash
	965
	

	
	     Sales
	
	957

	
	     Cash over and short
	
	8


 Bloom’s Taxonomy: Apply
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P1
 
[Question]

163. A company established a petty cash fund of $100 on September 1. On September 10, the petty cash fund was replenished when there was $16 remaining and there were petty cash receipts for: office supplies, $27; courier, $32; and postage, $22. On September 15, the petty cash fund was increased to $125 in total. Record the above transactions in general journal form. 

Answer:

	Sept.
	1
	Petty Cash
	100
	

	
	
	     Cash
	
	100

	
	10
	Office Supplies
	27
	

	
	
	Courier (Delivery) Expense
	32
	

	
	
	Postage Expense
	22
	

	
	
	Cash Over and Short
	3
	

	
	
	     Cash
	
	84

	
	
	
	
	

	
	15
	Petty Cash
	25
	

	
	
	     Cash
	
	25


  

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2
 
[Question]

164. A petty cash fund was originally established with a check for $150. In the petty cash fund on December 31 (the period-end), you find the following:
  

	Petty cash receipts
	Postage
	$43.50

	
	Office supplies
	51.85

	
	Office equipment repair
	49.00

	Cash
	4.25



Prepare the general journal entry to record the replenishment of the petty cash fund on December 31. 

Answer:

 

	Dec.
	31
	Postage Expense
	43.50
	

	
	
	Office supplies
	51.85
	

	
	
	Office Equipment Repair Expense
	49.00
	

	
	
	Cash Over and Short
	1.40
	

	
	
	     Cash
	
	145.75


 

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2
 
[Question]

165. A company established a $400 petty cash fund by issuing a check to the custodian on October 1. On October 15, the petty cash fund was replenished and increased to $1,000 in total. The contents of the petty cash fund at the time of the October 15 replenishment were:

 

	Currency and coins
	
	$  12

	Petty cash receipts for:
	
	

	     Transportation-in for inventory
	$ 39
	

	     Delivery expense
	138
	

	     Repairs to office equipment
	47
	

	     Postage
	114
	

	     Entertainment of customers
	53
	391

	Total
	
	$ 403


 
Prepare the general journal entry to record both the reimbursement and the increase of the petty cash fund on October 15. 

Answer:

 

	Oct.
	15
	Merchandise Inventory
	39
	

	
	
	Delivery Expense
	138
	

	
	
	Repairs Expense
	47
	

	
	
	Postage Expense
	114
	

	
	
	Entertainment Expense
	53
	

	
	
	Petty Cash
	600
	

	
	
	     Cash Over and Short
	
	3

	
	
	     Cash
	
	988


 

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P2
 
[Question]

166. On November 1, a company established a $90 petty cash fund. On November 12, the petty cash fund contains $3 in cash and the following paid petty cash receipts: transportation-in on merchandise inventory $14.25; postage, $34.50; and office supplies, $36. Give the entry to reimburse the fund and to increase its amount to $150 on November 12. 

Answer:

 

	Nov.
	12
	Merchandise Inventory
	14.25
	

	
	
	Postage Expense
	34.50
	

	
	
	Office Supplies
	36.00
	

	
	
	Cash Over and Short
	2.25
	

	
	
	Petty Cash
	60.00
	

	
	
	     Cash
	
	147.00


 

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P2
 
[Question]

167. A company established a petty cash fund in February of the current year and experienced the following transactions affecting the fund during February:
 

	Feb.
	1
	Established a $250 petty cash fund.

	
	5
	Paid $55 to acquire office supplies.

	
	8
	Reimbursed the company controller for $30 spent on beverages for recruits.

	
	18
	Paid $45 for postage.

	
	20
	Paid $65 for C.O.D. charges on merchandise inventory.

	
	25
	Paid $50 for janitorial services.

	
	28
	When sorting the petty cash receipts to replenish the fund, the custodian noted that there was $245 in receipts and $10 cash remaining.  Also, a decision was made to reduce the fund to $200 in total. 


 
Prepare the journal entry to reimburse the fund and to reduce its amount on February 28. 

Answer:

 

	Feb.
	28
	Office Supplies
	55
	

	
	
	Entertainment Expenses
	30
	

	
	
	Postage Expense
	45
	

	
	
	Merchandise Inventory
	65
	

	
	
	Janitorial Expense
	50
	

	
	
	     Cash Over and Short
	
	5

	
	
	     Petty Cash
	
	50

	
	
	     Cash
	
	190


 

 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Hard
Learning Objective: 06-P2
 
[Question]

168. Following are seven items a through g that would cause Xavier Company's book balance of cash to differ from its bank statement balance of cash. 
a. A service charge imposed by the bank.
b. A check listed as outstanding on the previous period's reconciliation and still outstanding at the end of this month.
c. A customer's check returned by the bank is marked "Not Sufficient Funds. (NSF)"
d. A deposit that was mailed to the bank on the last day of the current month and is unrecorded on this month's bank statement.
e. A check paid by the bank at its correct $190 amount was recorded in error in the company's Check Register at $109.
f. An unrecorded credit memorandum indicated that bank had collected a note receivable for Xavier Company and deposited the proceeds in the company's account.
g. A check was written in the current period that is not yet paid or returned by the bank.

Indicate where each item a through g would appear on Xavier Company's bank reconciliation by placing its identifying letter in the parentheses in the proper section of the form below.

 

	Bank statement cash balance
	
	Book balance of cash

	Add:
	(  )
	
	Add:
	(  )

	
	(  )
	
	
	(  )

	
	(  )
	
	
	(  )

	
	(  )
	
	
	(  )

	Deduct:
	(  )
	
	Deduct:
	(  )

	
	(  )
	
	
	(  )

	
	(  )
	
	
	(  )

	
	(  )
	
	
	(  )

	
	
	
	
	

	Reconciled balance
	
	Reconciled balance


  

Answer:

 

	Bank statement cash balance
	
	Book balance of cash

	Add:
	(d)
	
	Add:
	(f)

	
	(  )
	
	
	(  )

	
	(  )
	
	
	(  )

	
	(  )
	
	
	(  )

	Deduct:
	(b)
	
	Deduct:
	(a)

	
	(g)
	
	
	(c)

	
	(  )
	
	
	(e)

	
	(  )
	
	
	(  )

	
	
	
	
	

	Reconciled balance
	
	Reconciled balance


 

 

Bloom’s Taxonomy: Analyze
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3
 
[Question]

169. Based on the following information, prepare the November bank reconciliation for the Avisa Company. 

 The following information is available for the Avisa Company for the month of November:
a. On November 30, after all transactions have been recorded, the balance in the company's Cash account has a balance of $27,202.
b. The company's bank statement shows a balance on November 30 of $29,279.
c. Outstanding checks at November 30 include check #3030 in the amount of $1,525 and check #3556 in the amount of $1,459.
d. A credit memo included with the bank statement indicates that the bank collected $780 on a noninterest-bearing note receivable for Avisa. The bank deducted a $10 collection fee and credited the remainder of $770 to Avisa's account.
e. A debit memo included with the bank statement shows a $67 NSF check from a customer, J. Brown.
f. A deposit placed in the bank's night depository on November 30 totaled $1,675 and did not appear on the bank statement.
g. Examination of the checks on the bank statement with the entries in the accounting records reveals that check #3445 for the payment of an account payable was correctly written for $2,450, but was recorded in the accounting records as $2,540.
h. Included with the bank statement was a debit memorandum in the amount of $25 for bank service charges. It has not been recorded on the company's books.

Answer:

	Avisa Company

Bank Reconciliation

November 30

	Bank statement balance
	
	$29,279
	Book balance
	
	$27,202

	Add:
	
	
	Add:
	
	

	Deposit in transit
	
	1,675
	Collect a $780 note less

 $10 collection fee
	$770
	

	
	
	
	Error on check #3445
	90
	860

	
	
	30,954
	
	
	28,062

	Deduct:
	
	
	Deduct:
	
	

	  Outstanding checks
	
	
	   NSF check
	$   67
	

	     #3030
	$1,525
	
	   Service charge
	25
	92

	     #3556
	1,459
	2,984
	
	
	

	Adjusted bank balance
	
	$27,970
	
	
	$27,970


 

Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3
 
[Question]

170. Based on the following information, prepare the general journal entries Avisa must make at November 30. 

 The following information is available for the Avisa Company for the month of November:
a. On November 30, after all transactions have been recorded, the balance in the company's Cash account has a balance of $27,202.
b. The company's bank statement shows a balance on November 30 of $29,279.
c. Outstanding checks at November 30 include check #3030 in the amount of $1,525 and check #3556 in the amount of $1,459.
d. A credit memo included with the bank statement indicates that the bank collected $780 on a noninterest-bearing note receivable for Avisa. The bank deducted a $10 collection fee and credited the remainder of $770 to Avisa's account.
e. A debit memo included with the bank statement shows a $67 NSF check from a customer, J. Brown.
f. A deposit placed in the bank's night depository on November 30 totaled $1,675 and did not appear on the bank statement.
g. Examination of the checks on the bank statement with the entries in the accounting records reveals that check #3445 for the payment of an account payable was correctly written for $2,450, but was recorded in the accounting records as $2,540.
h. Included with the bank statement was a debit memorandum in the amount of $25 for bank service charges. It has not been recorded on the company's books.

Answer:

	Nov. 30
	Cash
	770
	

	
	Collection expense
	10
	

	
	     Note receivable
	
	780

	Nov. 30
	Cash
	90
	

	
	     Accounts payable
	
	90

	
	
	
	

	Nov. 30
	Accounts receivable: J. Brown
	67
	

	
	     Cash
	
	67

	
	
	
	

	Nov. 30
	Miscellaneous expense
	25
	

	
	     Cash
	
	25


 
Bloom’s Taxonomy: Create
AACSB: Analytic
AACSB: Communication
AICPA BB: Critical Thinking
AICPA BB: Industry
AICPA FN: Measurement
AICPA FN: Reporting
Difficulty: Medium
Learning Objective: 06-P3
 

[Question]

171. Brown Company's bank statement for September 30 showed a cash balance of $1,350. The company's Cash account in its general ledger showed a $995 debit balance. The following information was also available as of September 30. 
a. A customer's check for $100 marked NSF was returned to Brown Company by the bank. In addition, the bank charged the company's account a $25 processing fee.
b. The September 30 cash receipts, $1,250, were placed in the bank's night depository after banking hours on that date and this amount did not appear on the September 30 bank statement.
c. A $15 debit memorandum for checks printed by the bank was included with the canceled checks.
d. Outstanding checks amounted to $1,145.
e. A customer's note for $900 was collected by the bank. A collection fee of $25 was deducted by the bank and the difference was deposited in the account.
f. Included with the canceled checks was a check for $275, drawn on another company, Browne Inc.
(a) Prepare a bank reconciliation as of September 30.
(b) Prepare any necessary adjusting journal entries necessary as a result of the bank reconciliation. 

Answer:
a. 

 

	BROWN COMPANY

Bank Reconciliation

September 30

	Bank statement balance
	$1,350
	Book balance of cash
	$  995

	Add:
	
	Add:
	

	  Deposit in transit
	1,250
	  Proceeds of note less collection fee
	875

	  Bank error
	275
	
	

	
	$2,875
	
	$1,870

	Deduct:
	
	Deduct:
	

	  Outstanding checks
	1,145
	  NSF check plus processing fee
	125

	
	
	  Bank service charge
	15

	Reconciled balance
	$1,730
	Reconciled balance
	$1,730


 


b.

	Cash
	875
	

	Service charge expense
	25
	

	     Notes receivable
	
	900

	
	
	

	Accounts receivable
	100
	

	Service charge expense
	25
	

	     Cash
	
	125

	
	
	

	Service charge expense
	15
	

	     Cash
	
	15
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[Question]

172. The following information is available for the Edwards Company for its March 31 bank reconciliation: 
From the March 31 bank statement:

 

	Previous Balance
	Total Checks and Debits
	Total Deposits and Credits
	Current Balance

	$10,908
	$7,805
	$11,905
	$15,008

	

	Checks and Debits
	Deposits and Credits
	Daily Balance

	Date
	No.
	Amount
	
	Date
	Amount
	
	Date
	Amount

	03/03
	2874
	1,210
	
	03/02
	4,340
	
	03/01
	10,908

	03/11
	2906
	3,850
	
	03/27
	7,270
	
	03/02
	15,248

	03/15
	2905
	170
	
	03/31
	295
	IN
	03/03
	14,038

	03/25
	2910
	725
	
	
	
	
	03/11
	10,188

	03/29
	2908
	1,350
	
	
	
	
	03/15
	10,018

	03/30
	
	500
	NSF
	
	
	
	03/25
	9,293

	
	
	
	
	
	
	
	03/27
	16,563

	
	
	
	
	
	
	
	03/29
	15,213

	
	
	
	
	
	
	
	03/30
	14,713

	
	
	
	
	
	
	
	03/31
	15,008


 
NSF: A check from a customer, Cook Co. in payment of their account.
IN: Interest earned on the account.
From the Edwards Company's accounting records:

 

	Cash Receipts Deposited
	Cash Disbursements

	Date
	
	Cash Debit
	Check No.
	Cash Credit

	March
	7
	4,340
	2905
	170

	
	27
	7,270
	2906
	3,850

	
	31
	2,090
	2907
	460

	
	
	13,700
	2908
	1,350

	
	
	
	2910
	725

	
	
	
	2911
	340

	
	
	
	
	6,895


 


	Cash
	Acct. No. 101

	Date
	Explanation
	PR
	Debit
	Credit
	

	February
	28
	Balance
	
	
	
	9,698

	March
	31
	Total receipts
	R4
	13,700
	
	23,398

	
	31
	Total disbursements
	D5
	
	6,895
	16,503


 
a. Based on the above information, prepare a bank reconciliation for the Edwards Company.
b. Prepare the necessary general journal entries to adjust cash to the reconciled balance. 

Answer:
a.  

	Edwards Company

Bank Reconciliation

March 31

	Bank statement balance
	
	$15,008
	Book balance
	$16,503

	Add:
	
	
	Add:
	

	  Deposit in transit
	
	2,090
	   Interest earned on account
	295

	
	
	
	
	

	
	
	17,098
	
	16,798

	Deduct:
	
	
	Deduct:
	

	  Outstanding checks
	
	
	  NSF check 
	500

	     #2907
	$  460
	
	
	

	     #2911
	340
	800
	
	

	Adjusted bank balance
	
	$16,298
	Adjusted book balance
	$16,298


 
b.


	Mar. 31
	Cash
	295
	

	
	     Interest revenue
	
	295

	
	
	
	

	Mar. 31
	Accounts receivable – Cook Company
	500
	

	
	     Cash
	
	500
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[Question]
173.  Highlight Hotel deposits all cash receipts on the day when they are received and it makes all cash payments by check. At the close of business on December 31, its Cash account shows a $18,393, debit balance. Highlight Hotel's June 30 bank statement shows $15,921 on deposit in the bank. Prepare a bank reconciliation for Highlight Hotel using the following information
	Outstanding checks as of December 31 total $2,261.

	1. The December 31 bank statement included a $35 debit memorandum for bank services.

	2. Check No. 2519, listed with the canceled checks, was correctly drawn for $850 in payment of a utility bill on December 16. Highlight Hotel mistakenly recorded it with a debit to Utilities Expense and a credit to Cash in the amount of $805.

	3. The December 31 cash receipts of $3,425 were placed in the bank’s night depository after banking hours and were not recorded on the December 31 bank statement.

4. The bank statement included a check from a customer’s payment of an account receivable that had been returned NSF in the amount of $1,228.

Prepare the bank reconciliation for December 31.




Answer: 

Bank                                                                         Book

Unadjust. Bal.                $15,921                               Unadjust. Bal.              $18,393

Outstand Checks              -2,261                               Svc. Charge                         -35

Deposits in Transit          +3,425                                NSF                               -1,228

                                                                                   Utilities Exp.                       -45

Adjusted Balance            $17,085                         Adjusted Balance              $17,085
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[Question]

174.  Highlight Hotel deposits all cash receipts on the day when they are received and it makes all cash payments by check. At the close of business on December 31, its Cash account shows a $18,393, debit balance. Highlight Hotel's June 30 bank statement shows $15,921 on deposit in the bank. Prepare the necessary adjusting journal entries using the following information
1. Outstanding checks as of December 31 total $2,261.
2. The December 31 bank statement included a $35 debit memorandum for bank services.
3.  Check No. 2519, listed with the canceled checks, was correctly drawn for $850 in payment of a utility bill on December 16. Highlight Hotel mistakenly recorded it with a debit to Utilities Expense and a credit to Cash in the amount of $805.
4.  The December 31 cash receipts of $3,425 were placed in the bank’s night depository after banking hours and were not recorded on the December 31 bank statement.
5. The bank statement included a check from a customer’s payment of an account receivable that had been returned NSF in the amount of $1,228.

Prepare the necessary adjusting journal entries.

Answer: 

Miscellaneous Expense……………...35

Utilities Expense…………………….45

Accounts Receivable……………...1,228

                    Cash……………………….1,308
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[Question]

175. A company established a petty cash fund in May of the current year and experienced the following transactions affecting the fund during May:
May 1

Establish petty cash account in the amount of $300

May 5

Paid for miscellaneous office supplies in the amount of $53.22

May 9

Reimbursed Human Resource Manager for business lunch, $45.09

May 15
Paid for minor landscaping services, $75.00

May 22
Paid $65.00 for postage

May 31           Counted remaining cash and discovered that $56.34 remained
Prepare the journal entry to establish the fund on May 1. 

Answer:

Petty Cash……………….300

       Cash………………………300
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[Question]

176. A company established a petty cash fund in May of the current year and experienced the following transactions affecting the fund during May:
May 1

Establish petty cash account in the amount of $300

May 5

Paid for miscellaneous office supplies in the amount of $53.22

May 9

Reimbursed Human Resource Manager for business lunch, $45.09

May 15
Paid for minor landscaping services, $75.00

May 22
Paid $65.00 for postage

May 31           Counted remaining cash and discovered that $56.34 remained
Prepare the journal entry to reimburse the fund on May 31. 

Answer:

Office Supplies Expense………………..53.22

Business Meal Expense………………...45.09

Landscaping Expense…………………...75.00

Postage Expense………………………...65.00

Cash Over and Short……………………...5.35

       Cash……………………….………………243.66
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[Question]

177. A company established a petty cash fund in May of the current year and experienced the following transactions affecting the fund during May:
May 1

Establish petty cash account in the amount of $300

May 5

Paid for miscellaneous office supplies in the amount of $53.22

May 9

Reimbursed Human Resource Manager for business lunch, $45.09

May 15
Paid for minor landscaping services, $75.00

May 22
Paid $65.00 for postage

May 31           Counted remaining cash and discovered that $56.34 remained
The company decided to increase the petty cash balance to $450.  Prepare the journal entry to increase the fund on May 31. 

Answer:

Petty Cash………………..150.00

       Cash…………..……………150.00
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Fill in the Blank Questions
 

[Question]

178. An internal control system refers to the policies and procedures managers use to __________, ensure reliable accounting, promote efficient operations and urge adherence to company policies. 
Answer:  Protect assets
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[Question]

179. An employee is __________ when a company purchases an insurance policy against losses from theft by that employee. 
Answer:  Bonded
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[Question]

180. Two sales clerks should not share the same cash register. This refers to the internal control principle of _______________________. 
Answer:  Establish responsibilities
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[Question]

181. A sales system with pre-numbered, controlled sales slips is an example of the internal control principle of _______________________. 
Answer:  Maintain adequate records
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[Question]

182. A person who controls or has access to an asset must not keep that asset's accounting records. This refers to the internal control principle of ________________________. 
Answer:  Separation of duties
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[Question]

183. Having external auditors test the company's financial records and evaluate the effectiveness of the internal control system is part of the internal control principle of ________________________. 
Answer:  Perform regular and independent reviews
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[Question]

184. Two limitations of internal control systems are ____________________ and ________________. 
Answer:  Human error or human fraud; the cost-benefit principle
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[Question]

185. ____________ are short-term, highly liquid investment assets that are readily convertible to a known amount of cash. 
Answer:  Cash equivalents
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[Question]

186. ________________ includes currency, coins and amounts on deposit in checking accounts and many savings accounts. 
Answer:  Cash
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[Question]

187. ________________________ refers to a company's ability to pay for its short-term obligations. 
Answer:  Liquidity
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[Question]

188. A ________ is a document signed by the depositor instructing the bank to pay a specified amount of money to a designated recipient. 
Answer:  Check
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[Question]

189. _________________________ is the electronic transfer of cash from one party to another. 
Answer:  Electronic fund transfer (EFT)
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[Question]

190. A __________________________ is a document explaining the payment of a check. 
Answer:  Remittance advice
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[Question]

191. On a bank statement, deposits are shown as __________________, because the depositor's account is a liability on the bank's records. 
Answer:  Credits
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[Question]

192. The ________________ ratio reflects the liquidity of a company's accounts receivable. 
Answer:  Days' sales uncollected
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[Question]

193. The _________________ account is used to record the effects of cash overages and shortages from errors in making change. 
Answer:  Cash Over and Short
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[Question]

194. A ________ is an internal document (or file) that is used to accumulate information to control cash disbursements. 
Answer:  Voucher
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[Question]

195. A _____________________________ fund is used for the control of small amounts of cash disbursements. 
Answer:  Petty cash
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[Question]

196. ________________________ are checks written (or drawn) by the depositor, deducted on the depositor's records and sent to the payee, but not yet recorded by the bank for payment at the bank statement date. 
Answer:  Outstanding checks
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[Question]

197. _______________________ are deposits made and recorded by the depositor but not yet recorded on the bank statement. 
Answer:  Deposits in transit
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[Question]

198. A ____________ is a report explaining any differences between the checking account balance according to the depositor's records and the balance reported on the bank statement. 
Answer:  Bank reconciliation
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[Question]

199. After preparing a bank reconciliation, a company must prepare journal entries to adjust the book balance to the correct balance. Only the items reconciling the _____________ balance require adjustment. 
Answer:  Book
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[Question]

200. A customer's check is deposited by a company. The check is uncollectible because the balance in the customer's account is not large enough to cover the check. This check is referred to as a __________ check. 
Answer:  Non-sufficient funds (or NSF)
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[Question]

201. The internal document that is prepared by a department manager to inform the purchasing department of its needs is called the ________________________. 
Answer:  Purchase requisition
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[Question]

202. The document the purchasing department sends to the vendor that is used to place an order is the __________________________. 
Answer:  Purchase order
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[Question]

203. The document that is an itemized statement of goods prepared by the vendor listing the customer's name, items sold, sales prices and terms of the sale is the __________________________. 
Answer:  Invoice
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[Question]

204. The internal document that is used to notify the appropriate person that ordered goods have been received and to describe the quantities and condition of the goods is the ____________________. 
Answer:  Receiving report
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[Question]

205. The _________________________ is also called the check authorization. 
Answer:  Invoice approval
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